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Past Exam Questions

Section 5.1 & 5.2
1. Let 
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 be an angle in standard position whose terminal side contains the point 
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Answer: 
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2. If x is the largest negative angle that is coterminal with 
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 and y is the largest negative angle that is coterminal with 
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, then 
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Answer: 
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3. If the point 
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 is on the terminal side of the angle 
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 in standard position, then find the value of 
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  Answer: 
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4. Determine the degree measure of the positive angle with measure less than 
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 that is coterminal with the angle 
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Answer: 
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5. If 
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 is the complementary angle of 
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and 
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, then find the angle 
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Answer: 
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6. If 
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 is an acute angle of a right triangle with 
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, then find the exact value of the expression 
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Answer: 
[image: image24.wmf]13

85


7. Given that 
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Answer: 
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8. Find 
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 where 
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 is an angle in standard position whose terminal side contains the point 
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Answers: 
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9. Suppose that the terminal side of an angle 
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  in standard position lies on the line 
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Answers: 
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10. Given that 
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, then find the value of 
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Answer: 
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11. Given that 
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, then find the value of 
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Answer: 
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